N & 0l & AF S & M M

SA: REFHY
HzM: H=ZnE 4K
ool 249 XY 2 54 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
mES=psEini 99,932,315 81,642,452 18,289,863
= 11,073,264
g 38,520,000
Jl 8,530,000
= 37,509,901
£ 4,299,150
znsE s8Xd 85,814,935 76,983,432 8,831,503
= 9,933,264
g 28,105,000
J| 8,530,000
& 35,547,521
£ 3,699, 150
24 13 2 4 59,154,803 53,081,024 6,073,779
= 9,933,264
g 4,880,000
J| 8,530,000
= 32,112,389
£ 3,699, 150
AMUHHA 2E A XIS 9,785,000 9,707,255 77,745
= 15,000
o=t 9,554,000
£ 216,000
207 & I &y 270,000 180,000 90,000
=} 54,000
£ 216,000
01 24| 270,000 180,000 90,000
OLtHA 2aa0l2s SEHE
270,000,000 270,000
= 54,000
£ 216,000
308 AMXISHMSOIA 9,515,000 9,523,655 A 8,655
= 15,000
= 9,500,000
01 AIXSHMENEXZ 9,515,000 9,523,655 AN 8,655
OMUHsHEHA HEXE 8,500,000,000 8,500,000
OAUsHEHA BIAMEAMNE K&
1,000,000, 000 1,000,000
OZ9AdsNSIIE HH 0t el X XN
15,000,000 15,000
= 15,000
HIAENH SHISAIS 2,672,400 2,332,000 340,400
= 1,572,000
& 1,100,400
308 XX G SOl A 2,672,400 2,332,000 340,400
= 1,572,000
== 1,100,400
01 AIXSHHEMNEX= 2,672,400 2,332,000 340,400




SA: REFHY
HzM: H=ZnE 4K
Sl 249 N U 84 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 0ed N9 8ikd 1«
2,672,400,000 2,672,400
= 1,572,000
o=t 1,100,400
HAZAXNDKA KNIAS 5,659,150 9,518,700 N 3,859,550
= 5,659,150
403 XX SHHS K20 & 5,659,150 9,518,700 N 3,859,550
= 5,659,150
01 XIS A2E X 5,659,150 9,518,700 A 3,859,550
ONMNUsHEHA 290K A
5,659, 150,000 5,659,150
= 5,659,150
HASEX &4 285,700 357,125 NT1,425
= 228,560
o= 57,140
308 XX SHHSOIH 285,700 357,125 AT1,425
= 228,560
o 57,140
11 B 2SUHUEHEAEE A Y| 285,700 357,125 NT1,425
OHA 28X dEIE 285,700,000 285,700
= 228,560
& 57,140
H=zwsSolEXNSANY 14,914 ,642 10,000,000 4,914,642
J| 8,530,000
== 6,384,642
201 LBt ]| 25,500 0 25,500
01 AP 22| H| 25,500 0 25,500
Ok? € Hzusolsg4ds NAANY 8
9 AR EY M (0 AR 25,500,000 25,500
308 XX G SO0l A 14,889, 142 10,000,000 4,889, 142
J| 8,530,000
= 6,359, 142
01 AIXISHHEMNEX= 14,889, 142 10,000,000 4,889, 142
Okol & HEsuWE 02 453
14,889, 142,000 14,889, 142
J| 8,530,000
& 6,359, 142
ANHA A K& 9,185,000 9,221,160 A 36,160
207 A F I & 85,000 100,000 A 15,000
01 A 85,000 100,000 A 15,000
OAAHA BIHEEXEA A (HAEZ)
85,000,000 85,000
307 2Iz2t0| A 9,100,000 9,121,160 A21,160
09 2L AHEXZ2 9,100,000 9,121,160 A21,160




SA: REFHY
HzM: H=ZnE 4K
ool 249 XY 2 54 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANIHA HEXNH 9, 100,000,000 9,100,000
ZAQSARHEEH 29 1,154,106 990,000 164,106
201 LBt Y| 80,000 0 80,000
01 AP 22| d| 80,000 0 80,000
OFY ZY90IsSXNSHEH AIRA XS
20,000,000 20,000
OsY Z90IsXSAdH 2HAAE 2 X
60,000,000 60,000
307 2iz2tol A 1,074,106 990,000 84,106
05 QIZtR E S 1,074,106 990,000 84,106
OsY ZY0|sXMdEH |/ 29
1,074,106,000 1,074,106
MaHA = X2 1,397,604 1,195,584 202,020
= 1,397,604
403 XX SHHS K20 & 1,397,604 1,195,584 202,020
= 1,397,604
01 XIS A2 X 1,397,604 1,195,584 202,020
ONMAHA &2 X 1,397,604,000 1,397,604
= 1,397,604
SEYHNELSCHTAUE X 1,515,000 661,500 853,500
= 250,000
& 1,265,000
308 XHXIGHH SO0l & 1,190,000 0 1,190,000
01 IXHHIMNEXS 1,190,000 0 1,190,000
SEENESC 2N 740,000,000 740,000
oz M2y 291H 450,000,000 450,000
403 XX SHHS K20 ™ 325,000 661,500 A 336,500
= 250,000
& 75,000
01 XIS A=Z2E X 325,000 661,500 A 336,500
OusS2%X olsxg 2 XA 325,000,000 325,000
= 250,000
= 75,000
EHAl 2tEH ALY XS 840,237 1,270,000 AN429,763
= 772,087
£ 68, 150
308 MXISHMSOIA 638, 167 1,095,000 AN 456,833
01 HXHHIMNEEXTZ 638,167 1,095,000 N 456,833
QOBEHEEA 2GR (0l ARZ) 463,182,000 463,182
OEHAl CHHXF X & (0l aHE2H) 164,985,000 164,985
OEAE=SAMIY Z220AH e L S AS2E
HE ALY 10,000,000 10,000
403 XX SRS K 20| & 202,070 40,000 162,070




2N

X{ XH -
S =

h
=
=1

M0 2 kI

4> 0 O

9 k) o
0m J

Mo Ko
o 0x

-
A0 o

el EREERE (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 133,920
£ 68,150
01 AXISHHA=2E = 133,920 40,000 93,920
OZHAl OIEDl WH A 103,920,000 103,920
Oz=4tz BAl ZHIHA &= A 30,000,000 30,000
02 S 2SO HEAE R E AL H 68,150 0 68,150
OHASHZ LR AL(TINGSY X2
68, 150,000 68,150
£ 68,150
Al Z2XEs X3 195,000 304,200 A 109,200
= 195,000
308 XX EHSOIA 195,000 304,200 A 109,200
= 195,000
01 HIXNHHNBMNEES 195,000 304,200 A 109,200
OHYAl 2XE4 XA 195,000, 000 195,000
= 195,000
s usg 2,436,500 2,770,000 A 333,500
o 2,215,000
) 221,500
308 XXM SOIA 2,436,500 2,770,000 A 333,500
ras 2,215,000
< 221,500
01 AXHHBIYEES 2,436,500 2,770,000 A 333,500
O3 HAXNZAS (sER) 462,000,000 462,000
s 420,000
S 42,000
O228 HAXIAAMGE (sFF) 1,974,500,000 1,974,500
= 1,795,000
=) 179,500
S3EHAXZ (NGRE) 1,941,500 2,000,000 A 58,500
= 1,765,000
=) 176,500
308 XXM SO0 A 1,941,500 2,000,000 A 58,500
= 1,765,000
=) 176,500
01 AXHHBLEES 1,941,500 2,000,000 A 58,500
O338 HAXIAME (ZESR) 1,941,500,000 1,941,500
s 1,765,000
< 176,500
SZEEAXE (XNGRE) 990,000 686,000 304,000
= 900,000
< 90,000
308 MtXIEHMSOIH 990,000 686,000 304,000
= 900,000
< 90,000




2A NEZ Y
M Hsns 4K
ool 249 XY 2 54 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 990,000 686,000 304,000
O338 HAXNIANG(ZER) 990,000, 000 990,000
s 900,000
< 90,000
F2NSH SYUDX =L (HEAY) 2,800,000 1,720,000 1,080,000
< 800,000
£ 2,000,000
403 MHXISHE X201 & 2,800,000 1,720,000 1,080,000
< 800,000
£ 2,000,000
01 X SHHN2E = 2,800,000 1,720,000 1,080,000
O=¢ st=2Xsi 2EX10X 24
800,000, 000 800,000
Ogd st=2Xsi 281X 24
2,000,000, 000 2,000,000
£ 2,000,000
AMEE HAXE HAXNSHMSEX F& EZAY 184,900 157,500 27,400
= 92,450
< 92,450
402 RIZEX20l A 184,900 157,500 27,400
= 92,450
= 92,450
01 RIZt Xt 2 AL E = (REATH &) 184,900 157,500 27,400
OAB A HIAASHSEI EEHEXAY
184,900, 000 184,900
= 92,450
< 92,450
HEenWsSAE 2 A N 593,064 190,000 403,064
403 MtXISHH S =0l & 593,064 190,000 403,064
01 XM A2E X 593,064 190,000 403,064
OHASZE SHFMAAL (0larE2)
102,000, 000 102,000
OHAZERA Z2l0l 2EMY(ZUEA)
22,500,000 22,500
OHASZE LYIoxt ExX(=2 &)
17,500,000 17,500
OLY&A HARZZ EHYZ AX(Z2UEOH)
125,000, 000 125,000
OWAUTSIIHAEDE SHHMH A
281,064,000 281,064
O34 HASZZE NSHMAIE dXAY
45,000,000 45,000
CHHA 2HEE 2S5 2,545,000 0 2,545,000
= 523,500
< 606,500
£ 1,415,000

(&)




SN RERHY
HzM: H=ZnE 4K
ool 249 XY 2 54 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
207 S0 & 2,545,000 0 2,545,000
= 523,500
& 606,500
£ 1,415,000
01 | 800,000 0 800,000
OZFEHIT L AHHA SHEEZAAE D=
800,000,000 800,000
& 240,000
£ 560,000
02 & A Y| 1,745,000 0 1,745,000
ObHdHARHEBAAE 2=(BIS XH)
1,745,000, 000 1,745,000
= 523,500
& 366,500
£ 855,000
KTX &IOS S & ARA 29 X 60,000 0 60,000
308 XAXIEHSOIA 60,000 0 60,000
01 AIXSHMEAMNEX= 60,000 0 60,000
OKTX &OIOIAIY SEEHAIRA 29 X
60,000,000 60,000
WEHM 2L ALY 26,660,132 23,902,408 2,757,724
g 23,225,000
= 3,435,132
AAEI|H 2IFI|&E =4 480,000 1,320,000 A 840,000
403 XX SHHS K20 & 480,000 1,320,000 A 840,000
01 MXSHAHXNE2EE X 480,000 1,320,000 A 840,000
OAAINH 2YFI|IT S (MAAl)
480,000,000 480,000
ANSXHSLAIEY 28 =2 A0 55,000 55,000 0
308 MXISHHSOIA 55,000 55,000 0
02N ES 55,000 55,000 0
OS2 AMgERAE A= L1022
55,000,000 55,000
NEHL 29 1,710,000 2,010,000 A 300,000
306 52 1,710,000 1,710,000 0
012 1,710,000 1,710,000 0
Ousds+3 29 1,710,000, 000 1,710,000
mEeotMAe g2 =X 1,065,482 4,738,408 N3,672,926
201 et d| 73,800 96,200 N 22,400
01 AR 22l ] 73,800 93,200 A 19,400
OunsSdeZI} Mo/ & NERAJ3 S
SA(MAEZ) 11,900,000 11,900
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SN DEFRUDY
A sns SN
SHol: DEIF B AY EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEFIANEXZHL 23,225,000 15,752,000 7,473,000
s 23,225,000
403 UHXSHHSA=0l& 23,225,000 15,752,000 7,473,000
s 23,225,000
01 X SHHMA=E L 23,225,000 15,752,000 7,473,000
OZd LEXT oqve FIEIS FM AL
1,000,000, 000 1,000,000
s 1,000,000
OHZ RS +MAE FUEY ZAAY
1,175,000, 000 1,175,000
s 1,175,000
O=d Hgs SEFXE =4 2,444,000,000 2,444,000
s 2,444,000
028 e g &4  1,500,000,000 1,500,000
s 1,500,000
ONEZ MBS BYEIEIY 2AY
150,000,000 150,000
s 150,000
ORME HES ZHEANE T4
1,650,000, 000 1,650,000
s 1,650,000
OHEA S&HM IIYF=XE =4 400,000,000 400,000
s 400,000
OUiE MRl BYFUNEY TLAY
1,550,000, 000 1,550,000
s 1,550,000
OOl42 TSP tatel BYFXE X4
700,000, 000 700,000
ras 700,000
OZZA E232 IYFAE X4
450,000, 000 450,000
s 450,000
Oz=¢tz 0td9el E2EF=1& 24
250,000, 000 250,000
s 250,000
Oz¢z &= BE=XEE =4 450,000,000 450,000
s 450,000
Oz FaH ZII=XE =4 350,000,000 350,000
as 350,000
OHYA=2 Y5 =x&t” =4 1,150,000,000 1,150,000
s 1,150,000
OSFA d2s SEFIEH 1,000,000, 000 1,000,000
s 1,000,000
Oslies Ots=xtd =4 832,000, 000 832,000
s 832,000
OWA2=(30,338) DtSFXHE =4
300,000, 000 300,000
s 300,000




2N
X ZH -
L= B

el

nSI M
sns sdX&
nsetd el ALY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OB8A Ua26s t=s=XE =4
350,000, 000 350,000
s 350,000
O2& & =4 24 175,000,000 175,000
s 175,000
OOt&tAl EZ X7 S2E=3E 24
1,000,000, 000 1,000,000
s 1,000,000
Oz=¢tZ ot=24el SSFXE MY
600,000, 000 600,000
s 600,000
O34z &g 42 SE=XNE =4
200,000, 000 200,000
s 200,000
ONHEZ HES 2YERT =4
1,300,000, 000 1,300,000
s 1,300,000
Osdz Zigsg=ENa & =0 =4
100,000, 000 100,000
s 100,000
OBHE BH=NME U 22AL =¥ 2
FAUHE =4 800,000, 000 800,000
s 800,000
Otatz BE=xaE =4 729,000,000 729,000
= 729,000
OBtz SEHAHDE SSFTE S MY
900,000, 000 900,000
s 900,000
OLAS ¥ BYFAT THAY
120,000, 000 120,000
= 120,000
OHYD AFLANY FHE X4
1,600,000, 000 1,600,000
s 1,600,000
wE A £017] 100,000 0 100,000
201 £B-2d| 100,000 0 100,000
01 At 22l 60,000 0 60,000
Odgzeol wsotd 22 #Hel & 60,000,000 60,000
03 A2 Z Hl 40,000 0 40,000
Ounsetdold dAt & 40,000, 000 40,000
C2ess FA2e 13,890,000 4,607,000 9,283,000
= 1,140,000
s 10,415,000
< 1,735,000
£ 600,000
C2EAIL &= 13,890,000 4,607,000 9,283,000
= 1,140,000
s 10,415,000

«©




SN DERYY
By C208E XL
Chel: S2EAIE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 7,735,000
£ 600,000
Oelol2Es29Y HEAY 1,161,000 290,000 871,000
s 1,161,000
403 XA S =0l & 1,161,000 290,000 871,000
s 1,161,000
01 X SHMA2E X 1,161,000 290,000 871,000
ONgol2E7Y LAY 1,161,000, 000 1,161,000
s 1,161,000
WEALD &2 2 HEAMY(EX) 900,000 150,000 750,000
s 900,000
403 MtXISHH S A0l & 900,000 150,000 750,000
as 900,000
01 XM A=2EE 900,000 150,000 750,000
OQUSEAMD HE R HLAMY(AZ)
900,000, 000 900,000
s 900,000
MWK E AXAM(EX) 560,000 280,000 280,000
s 560,000
403 XHXISHH S Xt =01 560,000 280,000 280,000
= 560,000
01 AXSHMA=2EE 560,000 280,000 280,000
OMWIZ XA (AlZ) 560,000, 000 560,000
s 560,000
U2 AXAE(E) 800,000 0 800,000
s 140,000
< 660,000
401 AIEHI L 20 800,000 0 800,000
s 140,000
< 660,000
01 A& HI 800,000 0 800,000
Oslduxz 88X (%) 800,000,000 800,000
s 140,000
< 660,000
LoEs Y HE(NSnEStdesd HEAY) 850,000 0 850,000
s 850,000
403 Mt SHHSA=0l& 850,000 0 850,000
s 850,000
01 XM A=LE L 850,000 0 850,000
OkLelEs3Y HHEAY 850,000, 000 850,000
s 850,000
WESHEAY F& 1,075,000 2,540,000 A 1,465,000
403 XIS E A0l E 1,075,000 2,300,000 A 1,225,000




SA: DEFHDY
By C208E XL
Sel CROUMAL BB EEREED
= s
SN HH - (EH) - HRAY - BES 0l &k o4 e Hl DS 2
01 HXSHH =R 1,075,000 2,300,000 A 1,225,000
ORAUSH=EFH XX 1,075,000, 000 1,075,000
ITS 75 X& 1,140,000 0 1,140,000
= 1,140,000
308 NtXIEHMSOIE 1,140,000 0 1,140,000
= 1,140,000
01 HXHHBAEES 1,140,000 0 1,140,000
OolITs 2=5X& 1,140,000, 000 1,140,000
= 1,140,000
LONSHETH S EXN(NFRSAHHEZH N A 6,804,000 0 6,804,000
)
= 6,804,000
403 A X EHSXH=0l A 6,804,000 0 6,804,000
= 6,804,000
01 HXSHH =L xE 6,804,000 0 6,804,000
ORUSH=FH & &X 6,804,000, 000 6,804,000
= 6,804,000
HEol2Es7Y NS AIE HEAY 600,000 0 600,000
£ 600,000
403 TtXI M S A =01 A 600,000 0 600,000
= 600,000
01 HXSHHH=EE 600,000 0 600,000
O0R0IEE72% DEATAL AL
600,000,000 600,000
£ 600,000
Hees(nsd =) 175,000 0 175,000
UWRAHHXS(SZ ) 175,000 0 175,000
HWERAHX S (S L) 175,000 0 175,000
705 == &clsae 175,000 0 175,000
04 Al - SXHNL IS0l === 0l Xt &k & 175,000 0 175,000
OHA - BA SEHE XA 175,000,000 175,000
HE2LZH(DSEHL) 52,380 52,020 360
Jl2Z(nsda) 52,380 52,020 360
Jl2Zd(UsSE &) 52,380 52,020 360
201 fEt2E | 24,480 24,300 180
01 AtR 2t 2l | 24,480 24,300 180
OARZteldl (ol atE2) 24,480,000 24,480
202 o4 Hl 24,480 24,300 180
01 SLHOHI 24,480 24,300 180
OZ2UHHI(0lar=2) 24,480,000 24,480
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